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Factors

e Section 2.2 Factorising by grouping terms

( Example 1 )

Find the factors of (i) 2ab + 2ac + 3bx + 3cy
(i) 3ax — bx — 3ay + by



(Example 2 )—

Factorise 6x% + 2a — 3ax — 4x

Exercise 2.2

Factorise fully each of the following:

1. 2alx+y) +3(x +y) 2. 3x(2a—b) —4(2a — b)
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Factorise fully each of the following:

3. 3a(2b —c¢c) —4(2b — ¢)
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Factorise fully each of the following:

5. 2a(x — 2y) —dx — 2y)

\
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4. 2x(5y — z) + b(5y — 2)
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6. a’+ ab + ac + bc
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Factorise fully each of the following:

7. x> —ax+ 3x — 3a
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Factorise fully each of the following:

9. ab+5b+ 3a+ 15

8. ab+ ac — 5b — 5c¢
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10. 3x%2— 3xz + 4xy — 4yz



Factorise fully each of the following:
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Factorise fully each of the following:

13. 2ac — 4ad + bc — 2bd
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12. 2ax —6ay — 3x + 9y
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14. 3xy — 3xyz + 2z — 22?
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Factorise fully each of the following:

15. 8ax + 4ay — 6bx — 3by 16. 6ax? + 9a — 8x? — 12

Factorise fully each of the following:

17. xy—2) — 2y +z 18. an —5a— 5b+ bn



Factorise fully each of the following:

19. 2x%y — 2xz — 3xy + 3z 20. 7y?>— 21by + 2ay — 6ab

Factorise fully each of the following:

21. 4a’b — 3b — 6a + 2ab? 22. 12a? — 8ab + 9ac — 6bc



Factorise fully each of the following:

23. 10ab — 5ac — 2bd + cd 24. 4x*+ 3ay — 2ax — 6xy

Factorise fully each of the following:

25. 6a% + 15xy — 10ay — 9ax 26. 6xy + 12yz — 8xz — 9y?



Factorise fully each of the following:

27. 3abx? — 5axy — 3bxy + 5y? 28. 6a’c — 6ab — 4bc + 9a®

Factorise fully each of the following:

29. x?> — x(2a — b) — 2ab 30. 6x? — 3y(3x — 2a) — 4ax



Exercise 2.2

1.
3.
5.
7.
9.
11.
13.
15.
17.
19.
21.
23.
25.
27.
29.

(2a + 3)(x + y) 2
3a — 4)(2b — ¢) 4,
2a — 1)(x — 2y) 6

. (3x — 4)(2a — b)

( (2x + b)(5y — 2)

( . (a + ola + b)

( . (@a—75)b+ 0

(@ + 5)(b + 3) 10. (3x + 4y)(x — 2)

(c — 2d)(2c + 1) 12. (2a — 3)(x — 3y)

(2a + b)(c — 2d) 14. (3xy + 22)(1 — 2)

(4a — 3b)(2x + y) 16. (3a — 4)(2x%2 + 3)

( . (n —5)(a + b)

( . (7y + 2a)ly — 3b)

( . (3a — 2b)(4a + 30)

(2b — c)(5a — d) 24, (2x — a)(2x — 3y)
(3y — 4z)(2x — 3y)
(3a + 20)(3a*> — 2b)
(2x — 3y)(3x — 2a)

(2a — 3x)(3a — 5y)  26.
(ax — y)(3bx — 5y)  28.
(x — 2a)(x + b) 30.

23.
25.
26.
27.
28.

29.
30.
31.
32.

(4ab + 5)(4ab — 5) 24. (3xy + 1)(3xy — 1)
(2ab + 7cd)(2ab — 7cd)
(11a + 8bc)(11a — 8bc)
(9hk + 5pq)(9hk — 5pq)

() 3x + 3y)x — 3y) (i) 3(2x + y)(2x — y)
(i) 3C3x + y)3x —y) (iv) 53 + x)(3 — x)
(v) 5(3k + 2)(3k — 2)

(vi) 4(ax + 3y)lax — 3y)
(@ + b%(a + b)(a — b)

(i) 9200 (i) 240 (iii) 88
2(9x2 — 4y?); 2(3x + 2y)(3x — 2y)
(3x + V)(3x — y)



